9. 1fA=(1-23) and =

[l 2 (>) (2
0 l][y]_:[-&.
11. The angle of inclination of a str:
12. The equation of a straxght lme hav'
a)3x«-y -4=0
PG ER R .

13. In the figure the value x“:s‘eqﬁ‘il'-t% oY nﬁ-’l
a) 4.2 ; b)32
14. In ABC, DE is 11 to BE, meeting AB and at D an
AC is equal to ‘
a) 6.5 cm b) 45 cm . C 7
15. (l1-sin’@) sec’d= a) 0 ; Y1
SECTIO

Note : i) Answer 10 questions. ii) Question number 3Qi8 €0
the first 9 questions.

16. LetA={0,1, 2,‘,41 B _ -2345,6}@:1;14
17. Draw V. ,
18, Find the ﬁrs :

19. Find S, for the geometrlc series descn‘bed here a

20. Solve the following equation by elimination method

21. Fin the quotient and remainder using synthetic diy.
a e M . Vv: MUK

22. Simplify: 3 3542 y2e2n-30 PG A

23. Construct a 2 x 3 matrix A = [aj] whose elements ;

_ i 5 _
A=
24. If [5 g}md B= (—l-—
: 25 Find the area of the triangle whose

-




32.

3.

34.

35,
36.,

Bl

38.

39.

40.

41.
42.

43.
44.
45.

46.

47.

of umvaﬁigr ﬁtndents, 64 had ta

coufse, 58 had taken j

wsics course 26 had
computer science and physics course, and 1
students who were survey d? Find how ma

tzem 16,9,15,18,21}, B={1,2,4,5,6}and / ‘4

Represent f by (i) an arrow diagram (ii) a set of oyderec
In an arithmetic series, the sum of first 11 tgfm
arithmetic series.
Find the sum of first ‘n’ terms of the series 7
Facterise the polynomlal x3 - 23:(2 +142x -
FmdtheGCD of X2-x~-2,x2+x-6,3x8 -
y2-3x-10 xz; X -
Multiply and simplify : 2-x-20 x pE

33 8 7 2 =3\
A= . B= g2 r
& (7 6] (0 9J o [4 6)

SRS T 2 -
g s e

Find the area of the quadrilateral w

Find the equation of I:he straight lines
intercepts is 3.
State and prove basic proportionality &
Ifx=asecd +btanBandy =ata 9‘&
a) Find the sum of all 3 - di

b) Whatkrauonal P  cobsion shos
SECTION - IV

Note : Answer both the questwns by choosing either of the alternative.

Draw @ circle radius 3cm. From an éxternal pomit 7 cm away from its centre, cons

tang t%‘the Circle and meadure thexr lﬂ;gths {QR). )

b) Construct AABC such that BC = 5cm, |4 =45 and the medlanfmmAmBQ'

a) Dwﬂ;le graph of y =x2 +2x-3 and b nce find the roots of x2 - x - 6 = 0. m)-

b) The cost of the milk per litre Rs. 15/-. Draw the graph for the te]atlonbetm the ty and
ace find (i) The Proporhonal consw (11) the cost of 3 litres of mi&i b i’ 4

)M



